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1. Introduction
In the last RAN4#21, It was agreed to start simulation work based on the proposed assumption, which was proposed by Motorola in the e-mail reflector (TR 25.XXX v001 High Speed Downlink Packet Access: UE Radio Transmission and Reception(FDD)). 

NTT DoCoMo would like to show our simulation results based on this assumption.

2. Simulation assumption

Simulations are performed based on the agreed assumption, which has presented by Motorola in the RAN4 e-mail reflector (TR 25.XXX v001 High Speed Downlink Packet Access: UE Radio Transmission and Reception(FDD)). Only the fixed reference channel performance is simulated. 

Regarding the Redundancy version parameter, it seems that constellation version parameter b is not specified. Therefore it was assumed as following in this simulation.

k mod 2=0  (  s=1, r=0, b=0

k mod 2=1  (  s=1, r=1; b=0

3. Simulation results

Figure.1 to 8 show our simulation results. Regarding the pilot-data ratio and channel estimation, it is assumed to use practical estimation. Additionally, it is also shown the simulation results with ideal channel estimation in the same figures. 

[image: image1.wmf]0 10

0

5 10

5

1 10

6

1.5 10

6

2 10

6

2.5 10

6

-25

-20

-15

-10

-5

0

AWGN, 1.2Mbps

Ideal est.

Practical est. 

Ec/Ior[dB]

[image: image2.wmf]0 10

0

5 10

5

1 10

6

1.5 10

6

2 10

6

2.5 10

6

-25

-20

-15

-10

-5

0

AWGN, 3.6Mbps

Ideal est. 

Practical est. 

Ec/Ior[dB]


Figure.1 T-put performance (AWGN, 1.2Mbps)            Figure.2 T-put performance (AWGN, 3.6Mbps)
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Figure.3 T-put performance (PB3, 1.2Mbps)              Figure.4 T-put performance (PB3, 3.6Mbps)
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Figure.5 T-put performance (VA30, 1.2Mbps)             Figure.6 T-put performance (VA30, 3.6Mbps)
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Figure.7 T-put performance (VA120, 1.2Mbps)             Figure.8 T-put performance (VA120, 3.6Mbps)

4.Conclusion

This paper shows simulation results for HSDPA performance. From these results, it is clear that the value of HS-PDSCH Ec/Ior = -13dB is too small to specify the performance requirement, especially in the fading condition, because T-put became zero at this point. Therefore it should be re-consider about this problem to specify appropriate performance requirement.
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